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Examination March / April - 2023
Economics - VIII (Compulsory) (Statistical Methods)

[Time: 1:30 Hours] [Max. Marks: 50]
Please check whether you have got the right question paper.

N. B 1) All questions are compulsory.
2) Use black and blue pen only
3) Use pencil for diagrams.
4) Use of any signs, attracting attentions is prohibited.

1) d U= AISIu Ta=TF 318

2) Tad e T STedT U= aTuR &l

3) ATH AT U=l qTUR HRIal.

4) HIUA6! BefdYd Gl d a1 HRUTN Ufdey

Q1 A. Fill in the blanks (attempt all) 5
1) “Statistics is a science of counting”. This definition is given by -------
2) Mode is denoted by ----- Letter.
3) Highest Value- Lowest Value = ------
4) Correlation coefficient is denoted by ------ English Letter.
5) The Index Number of base year is always------

3f) Reaprea ST HR_1 (4 SifFaT)
1) “HiRSTH! g AU X 313~ fg ST - 7 & affe.
2) VEOD - AT HERT GIAG AT,
3) ald HId Hed — Fdid B8 Hed = —--mom
4) HEYSY U - TT TSN 31&RT GRIAST STl
5) STYR audT HaN® "gHT - 3.

B. Answer in a sentence (attempt all)
1) Who is the father of Indian Statistics?
2) Whose Index number is called as Ideal Index Number?
3) What is Range? It highest value of series =30 and Lowest =20
4) Who introduced the concept of standard deviation?
5) Who developed Index Number Technique?

§. U1 araTd I foel. (9 i)
1) YR ARSI FARATT S DI 3Tg?

o X

2) I FERITDTST e ezl FUrdTd?
3) SR AMfGhdie qaide Jed =30 30 gald HH & =20 30 @)
foR fadt?
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4) YA {qISTe Hebeul DIuil HigS! 2
5) fadzrie g dF wioft fAwfid Fee

Q2 A. Explain concept/ Terms/ units/ events (Any two) 10
(Word limitation minimum 60 for each answer)
1) Primary data
2) Base year
3) Calculate median from the following data.
X: 5 10 15 20 25

Y: 3 7 8 2 10

4) Calculate Fisher’s Ideal Index Number from the following data.
If £ po qo = 168; X p1qo = 312;
Y poq: =132; X p1g1= 258

3. Ahed-T1/ T/ gch/ g1 WP R (HIUds! &)

(TAS T fHHM 2eq FUTeT go 2eg)
1) Y Arfgdt
2) URTYd aN
3) WG ARG ST HERT e,
X: 5 10 15 20 25
Y: 3 7 8 2 10

4) WSS Gearedn YR IR g et e o1l oR
Y po Qo = 168; X p1qo = 312;
Y po QL =132; X piqr=258

B. Attempt in short (Any two) 10
(Word limitation minimum 60 for each answer)
1) Explain the Merits of range.
2) Explain the demerits of Arithmetic Mean.
3) Calculate Coefficient of variation from the following data.
IF:N = 10, Ydx? = 7294, Ydx = —120

Mean (x) = 38
4) Find out Karl Pearson's coefficient of correlation from the following
value.
IFN =10 Xdxdy = 333, Xdx =6
Xdy =13, Xdx? =318 xdy? =377

9. YIgHrd I o8l (@Iuids! aiF)
1) faaRT 701 Y A
2) IO AW 1Y WP 1.
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3) WSS BT faaRuT U Hlel.
SR : N =10, Tdx? = 7294,
Mean (x) = 38

Xdx = —120

4) TGS GedreT YR B0 ISR Tl He9ay 0T Hlal.

Gk N =10 Ydxdy = 333, Ydx =6
Ydy = 13, 2dx? = 318, Ydy? = 377
Q3 Answer in detail (any one) 20

(word limitation minimum 200 for each answer)
1) What is Co-relation of Coefficient?
2) Explain types and properties of Correlation of Coefficient.
3) Calculate Fisher’s Ideal Index Number from the following data.

Commodities Base year Current year
Price Quantity | Price | Quantity
A 10 5 15 4
B 12 6 16 3
C 8 9 10 5
D 6 3 9 3
IR IR g (@uae! te)

Ud® IIRIY fHaH alodmf'crrzoow&{)
1) HEHeY TOr #5U|u1 P17 TgHEY UG UHR g TILH WY .
2) WSS AlgataRe fhaREn ezl gz Prer.

GRsl YR Y EINEL
IObJ-I(‘I I IOf)HCI I
A 10 5 15 4
B 12 6 16 3
C 8 9 10 5
D 6 3 9 3
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